Transfers Report

This report contains the transfers results.

Contest Name

Ward 1 - West Fife & Coastal Villages

Valid Votes
Positions to be Filled
Quota

5,963 3 1,491

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jo COCKBURN	Scottish Liberal Democrats	399
Graeme James DOWNIE	Scottish Labour Party	1,482
William GAVIN	Alba Party for independence	83
Martin James KEATINGS		46
Craig MCCUTCHEON	Scottish Greens - Think Global Act Local	246
Jacqueline MCKENNA	Scottish Labour Party	458
Danny SMITH	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	94
Sam STEELE	Scottish National Party (SNP)	1,301
Katie Margaret STRANG	Scottish National Party (SNP)	837
Conner YOUNG	Scottish Conservative and Unionist	1,017
	Total	5,963

This report contains the transfers results.

Stage 2 - Exclusion of Martin James KEATINGS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jo COCKBURN	3	1.00000	3.00000
Transfer to Graeme James DOWNIE	5	1.00000	5.00000
Transfer to William GAVIN	9	1.00000	9.00000
Transfer to Craig MCCUTCHEON	5	1.00000	5.00000
Transfer to Danny SMITH	3	1.00000	3.00000
Transfer to Sam STEELE	6	1.00000	6.00000
Transfer to Katie Margaret STRANG	6	1.00000	6.00000
Transfer to Conner YOUNG	3	1.00000	3.00000
No further preference	6	1.00000	6.00000
Not transferred due to rounding			0.00000
	Total		46.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of William GAVIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jo COCKBURN	4	1.00000	4.00000
Transfer to Graeme James DOWNIE	5	1.00000	5.00000
Transfer to Craig MCCUTCHEON	13	1.00000	13.00000
Transfer to Jacqueline MCKENNA	3	1.00000	3.00000
Transfer to Danny SMITH	10	1.00000	10.00000
Transfer to Sam STEELE	23	1.00000	23.00000
Transfer to Katie Margaret STRANG	17	1.00000	17.00000
No further preference	17	1.00000	17.00000
Not transferred due to rounding			0.00000
	Total		92.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Graeme James DOWNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
No further preference	85	0.00067	0.05695
Not transferred due to rounding			0.00036
	Total		1.00000

This report contains the transfers results.

Stage 5 - Exclusion of Danny SMITH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jo COCKBURN	12	1.00000	12.00000
Transfer to Craig MCCUTCHEON	9	1.00000	9.00000
Transfer to Jacqueline MCKENNA	10	1.00000	10.00000
Transfer to Sam STEELE	6	1.00000	6.00000
Transfer to Katie Margaret STRANG	5	1.00000	5.00000
Transfer to Conner YOUNG	36	1.00000	36.00000
Transfer to Jo COCKBURN	1	0.00067	0.00067
Transfer to Jacqueline MCKENNA	4	0.00067	0.00268
Transfer to Katie Margaret STRANG	1	0.00067	0.00067
Transfer to Conner YOUNG	1	0.00067	0.00067
No further preference	29	1.00000	29.00000
No further preference	4	0.00067	0.00268
Not transferred due to rounding			0.00000
	Total		107.00737

This report contains the transfers results.

Stage 6 - Exclusion of Craig MCCUTCHEON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jo COCKBURN	42	1.00000	42.00000
Transfer to Jacqueline MCKENNA	30	1.00000	30.00000
Transfer to Sam STEELE	81	1.00000	81.00000
Transfer to Katie Margaret STRANG	68	1.00000	68.00000
Transfer to Conner YOUNG	6	1.00000	6.00000
Transfer to Jo COCKBURN	3	0.00067	0.00201
Transfer to Jacqueline MCKENNA	15	0.00067	0.01005
Transfer to Sam STEELE	1	0.00067	0.00067
Transfer to Katie Margaret STRANG	1	0.00067	0.00067
Transfer to Conner YOUNG	1	0.00067	0.00067
No further preference	46	1.00000	46.00000
No further preference	12	0.00067	0.00804
Not transferred due to rounding			0.00000
	Total		273.02211

This report contains the transfers results.

Stage 7 - Exclusion of Jo COCKBURN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jacqueline MCKENNA	139	1.00000	139.00000
Transfer to Sam STEELE	31	1.00000	31.00000
Transfer to Katie Margaret STRANG	28	1.00000	28.00000
Transfer to Conner YOUNG	117	1.00000	117.00000
Transfer to Jacqueline MCKENNA	66	0.00067	0.04422
Transfer to Sam STEELE	7	0.00067	0.00469
Transfer to Katie Margaret STRANG	1	0.00067	0.00067
Transfer to Conner YOUNG	9	0.00067	0.00603
No further preference	145	1.00000	145.00000
No further preference	26	0.00067	0.01742
Not transferred due to rounding			0.00000
	Total		460.07303

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Jacqueline MCKENNA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sam STEELE	60	1.00000	60.00000
Transfer to Katie Margaret STRANG	51	1.00000	51.00000
Transfer to Conner YOUNG	107	1.00000	107.00000
Transfer to Sam STEELE	112	0.00067	0.07504
Transfer to Katie Margaret STRANG	39	0.00067	0.02613
Transfer to Conner YOUNG	190	0.00067	0.12730
No further preference	422	1.00000	422.00000
No further preference	887	0.00067	0.59429
Not transferred due to rounding			0.00000
	Total		640.82276

Transfers Report

This report contains the transfers results.

Stage 9 - Surplus of Sam STEELE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Katie Margaret STRANG	1,401	0.01134	15.88734
Transfer to Katie Margaret STRANG	106	0.00000	0.00000
No further preference	101	0.01134	1.14534
No further preference	55	0.00000	0.00000
Not transferred due to rounding			0.00782
	Total		17.10854

Transfers Report

This report contains the transfers results.

Stage 10 - Exclusion of Katie Margaret STRANG

1,027.92352

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Conner YOUNG	137	1.00000	137.00000
Transfer to Conner YOUNG	194	0.01134	2.19996
Transfer to Conner YOUNG	8	0.00067	0.00536
Transfer to Conner YOUNG	35	0.00000	0.00000
No further preference	875	1.00000	875.00000
No further preference	1,207	0.01134	13.68738
No further preference	46	0.00067	0.03082
No further preference	71	0.00000	0.00000
Not transferred due to rounding			0.00000
	Total		1,027.92352